

























































































































































































































































































































































































































































































































In[ ]:= V1 = 0.06;

T1 = 273.15; T2 = 303.15;

p1 = 2.5 × 100000; p2 = 2.65 × 100000;

kB = 1.380649 × 10-23;

R = 8.3;

T2

p2

V1 p1

T1

p1 V1

R T1

p1 V1

R T1
* 14.4

Out[ ]= 0.0628206

Out[ ]= 6.61625

Out[ ]= 95.274

In[ ]:= m = 500;

p0 = 101300;

h = 1500;

ρ0 = 1.293;

Rs =
p0

273.25 ρ0
;

Ti = 353.25; Ta = 283.25;

ρ1 =
p0

Ta Rs
;

g = 9.81;

p = p0 Exp
-ρ1 g h
p0



Δρ =
p

Rs Ta
-

p

Rs Ti

V = m / Δρ
Out[ ]= 84512.1

Out[ ]= 0.206212

Out[ ]= 2424.69
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In[ ]:= Ta = 263.25;

ρ1 =
p0

263.25 Rs
;

p = p0 Exp
-ρ1 g h
p0



Δρ =
p

Rs Ta
-

p

Rs Ti

V Δρ - m

Out[ ]= 83356.6

Out[ ]= 0.281372

Out[ ]= 182.241

191.69719169719178`

2     Ex_10.nb

Printed by Wolfram Mathematica Student Edition


